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50,0009 #228}+F=
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195489 2,000 2,000 0
198549 1,000 1,000 0
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1.8+ 7] 46,584 48,220 -1,636
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2. 384489 32,824|  34,424|  -1,600
o]%3k 2023 02€ 109 114 11% 16% 16 AR wSH AFFA2Sew




2023 A %= A= of AHE Al A

of| Ak o 2k (29 - HdD)
A
Ad= | oW -
el | D55 0 82712(9)
AR | G | A ARG A5 AN & il @
1.5k 8,224 9,824 -1,600| 7 EFEE 1 15,0009%3F«12Y= 540,000
S WA SAI]ARE Q
;Lj,ﬁ , S ¥ 130,000 %5 1,300,000
4—*2§]:
EAZ1Q U E ¢ 132,000 #1129 = 1,584,000
A E’/K]_Q_oﬂ_/l\_y_i o] . ] =
HEAEGLRE T ¢ 50,0009103+2 1,000,000
RS L=iR=y} o] o] H)
= P%Xlxo FE&A 9 40,0009 %208 2.400.000
/\*3§]:
AFEL-ETQ] 1 50,0009 #10F 23] = 1,000,000
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